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Sample Paper – 2009

Class – XII

Subject – Accountancy 

M: M: 80                                                                                                     Time: 3 Hrs. 

GENERAL INSTRUCTIONS: 
1. Attempt all parts of a question together.

2. Show all your workings clearly. 

PART-A

1. State the distinction between Profit & Loss and Profit and Loss Appropriation account. (1)       
2. State any two factors affecting the value of goodwill of a firm.                        (1) 

3. What is meant by “Debentures issued as collateral security”?                          (1) 
4. Define gaining ratio.                                                                                           (1)
5. State two characteristics of a “Not for profit organization”?                             (1) 
6. Raghav Limited purchased a running business from Krishna Traders for a sum of
Rs. 15, 00,000, payable Rs. 3, 00,000 by cheque and for the balance issued 9%

Debentures of Rs. 100 each at a discount of 4%. 

The assets and liabilities consisted of the following:

Plant and Machinery Rs. 4, 00,000
Buildings Rs.  6, 00,000
Stock Rs. 5, 00,000
Sundry Debtors Rs. 3, 00,000
Sundry Creditors Rs. 2, 00,000
Record necessary journal entries in the books of Raghav Limited.                       (3) 
7. How will you deal with the following case while preparing the final accounts as on 31st March, 2007? 
Balance Sheet as at 1.4.2006
	Liabilities 
	 Rs. 
	Assets 
	Rs. 

	Creditors for Sports Material 
	 300
	Sports Material 
	400


Receipts & Payment Account for the year ended 31st March, 2007

	Particulars 
	Rs. 
	Particulars 
	Rs. 

	
	
	Sports Materials 
	7,000


Additional Information: 

Sports Materials on hand as on 31.3.2007 were Rs. 1,100.                                   (3) 

8. X Ltd. forfeited 500 shares of Rs. 10 each (Rs.6 called up) issued at a discount of 10% to Mr. Ram on which he had paid Rs. 3 per share. Out of these 300 shares were re-issued to Z as Rs. 8 paid up for Rs. 6 per share. Give journal entries to record forfeiture and re-issue of shares.    (3) 

9. R and S were partners in a firm sharing profits in 3:2 ratio. Their respective fixed capitals were Rs. 10, 00,000 and Rs. 15, 00,000. The partnership deed provided the following: 

a) Interest on capital @ 10%. 

b) Interest on Drawings @ 12% p.a. 

During the year ended 31.3.2007, R’s drawings were Rs. 1,000 per month drawn at the end of every month and S’s drawings were Rs. 2,000 per month drawn in the beginning of every month. After the preparation of final accounts for the year ended 31.3.2007 it was discovered that interest on R’s drawings was not taken into consideration. Give the necessary adjusting entry. (4)                                                                                         
10. A, B and C were partners in a firm sharing profits in 3:2:1 ratio. The firm closes its books on 31st March every year. B died on 12.6.2007. On B’s death the goodwill of the firm was valued at Rs. 60,000. On B’s death his share in the profits of the firm till the time of his death was to be calculated on the basis of previous year’s profit which was Rs. 1, 50,000. Calculate B’s share in the profit of the firm. Pass necessary journal entries for the treatment of goodwill and B’s share of profit at the time of his death.                                                                                        (4) 
11. Poonam Ltd. was registered with an authorized capital of Rs. 4, 00, 00,000 divided into equity shares of Rs.100 each. The company offered for public subscription 3, 00,000 equity shares. The public applied for 2, 80,000 shares and all were allotted. The company did not make the second and final call of Rs. 10 per share. The first call of Rs. 20 per share was not received on 1000 shares. Prepare the Balance Sheet of the Company showing the different types of Share Capital.                                                                                                                               (4) 

12. Pass the necessary journal entries for the following transactions:                               (6) 

1) Redeemed 800, 9% debentures of Rs. 100 each by converting the same into equity shares at a premium of 25%. 
2) Purchased 3,000, 9% debentures of Rs. 100 at Rs. 97 each for immediate cancellation. 

3) The company has a balance of Rs. 6, 00,000, 8% debentures. Out of these, 25% debentures were redeemed by draw of lots at a premium of 25%. 

13. Following is the Receipts & Payments Account of the City Club for the year ended 31st March, 2007. 
	Receipts 
	Rs. 
	Payments 
	Rs. 

	To Balance b/d 
	5,000
	By Affiliation Fee to the Pradesh Club 
	  1,000

	To Subscriptions 
	
	By Furniture (Oct 1) 
	  3,000

	2005-06                      500
	
	By Sports Expenses 
	  2,500

	2006-07                 15,000
	
	By Sundry Expenses 
	15,200

	2007-08                   1,000
	16,500
	By Balance c/d 
	14,000

	To Life Membership fees 
	12,000
	
	

	To Sale of Scrap 
	     200
	
	

	To Interest on Sports Fund Investment 
	  2,000
	
	

	
	35,700
	
	35,700


The club has 1600 members, each paying annual subscription of Rs. 10. Subscription of Rs. 450 is still in arrears for 2006-07. 
On April 1, 2006, the club’s assets and liabilities included Furniture Rs. 2,000; Sports Fund and 10% Sports Fund Investments Rs. 30,000 each. Provide depreciation on Furniture at 20% p.a. and prepare Income & Expenditure Account for the year ended March 31, 2007 and Balance Sheet of the Club as at that date.                                                                                     (6)

14. B and C were partners in a firm sharing profits in the ratio of 5:3. They admitted D as a partner for 1/4th share in the profits of the firm which he acquired from B and C in the ratio of 3:2. D brought Rs. 2, 00,000 for his capital and the necessary amount of goodwill in cash for his share in the firm. The goodwill of the firm was valued at Rs. 1, 80,000. Calculate new profit sharing ratio of B, C and D and pass necessary journal entries in the books of the firm for the above transactions.                                                                                                           (6) 
15. The Delhi Cloth Mills Ltd. invited applications for 10,000 shares of Rs. 100 each at a premium of Rs. 10 each payable as below: 

Rs 50 on application; Rs. 35 on allotment (including premium), and the balance on call. Applications for 15000 shares were received. Applicants for 2500 shares did not get any allotment and their money returned. Allotment was made pro-rata to the remaining applicants. Excess money received with applications was adjusted towards sums due on allotment. Mr. A was allotted 400 shares. He failed to pay the amount due on allotment and call money. The company forfeited his shares and subsequently re-issued them at Rs. 105 per share. Give the Journal entries in the books of the Company.                                                                 (8) 
OR
Janta Ltd. invited applications for the allotment of 1, 00,000 equity shares of Rs. 100 each at a discount of 5%. The amount was payable as follows:

On application-Rs. 30 per share; on allotment-Rs.40 per share; on first and final call- Balance. Applications for 1, 30,000 shares were received. Applications for 10,000 shares were rejected. Shares were allotted on pro-rata basis to the remaining applicants. Excess application money received on application was adjusted towards sums due on allotment. All calls were made and were duly received. Vinod who was allotted 500 shares failed to pay the allotment and first and final call. His shares were forfeited. The forfeited shares were re-issued for Rs. 55000 fully paid-up. Pass necessary journal entries in the books of the company for the above transactions.
16. D and E were partners in a firm in a firm sharing profits in 3:1.  On 1.4.2007 they admitted F as a new partner for 1/4th share in the firm which he acquired from D. Their Balance Sheet on that date was as follows: 

	Liabilities 
	Amount (Rs.)
	 Assets    
	Amount (Rs.) 

	Creditors 
	54000 
	Cash 
	44000

	General Reserve
	32000
	Investments 
	50,000

	
	
	Stock                           
	15000

	Capitals: 

D         1,00,000

E             70,000      
	1,70,000
	Debtors                40,000

-Provision for        3000

Bad Debts
	37,000

	
	
	Machinery 
	60,000

	                                      
	
	Land & Building 
	50,000 

	
	2,56,000
	
	2,56,000


 F will bring Rs. 40,000 as his capital and the other terms agreed upon were:  

       (i)         Goodwill of the firm was valued at Rs. 24000. 

       (ii)        Land & Building was valued at Rs. 70,000. 

       (iii)       Provision for bad debts was found to be in excess by Rs. 800. 

(iv) A liability for Rs. 2000 included in sundry creditors was not likely to arise. 

(v) The capital of the partners be adjusted on the basis of F’s contribution of capital to the firm. 

(vi) Excess or shortfall, if any, to be transferred to current accounts.  

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance Sheet of D, E and F.                                                                                                        (8) 

OR
The Balance Sheet of A, B and C on 31st March, 2007 was as follows: 

	Liabilities 
	Amount (Rs.) 
	 Assets 
	Amount (Rs.) 

	Creditors 
	50,000 
	Profit & Loss a/c 
	30,000

	A’s Capital 
	80,000
	Land & Building 
	80,000

	B’s Capital
	80,000
	Plant & Machinery 
	56,000

	C’s Capital
	60,000
	Motor Car 
	54,000

	
	
	Debtors 
	48,000

	
	
	Cash 
	   2000

	
	2,70,000
	
	2,70,000


The following terms were agreed upon A’s retirement: 

(i)Goodwill of the firm is to be valued at Rs.42, 000 and not to be shown in the books of the firm after A’s retirement. 

(ii) Land & Building was to be appreciated by Rs. 20,000.

(ii)  Plant & Machinery was to be reduced to Rs. 46,000.

(iii) Make a provision for doubtful debts at 5% on debtors. 

(iv) Create a provision of Rs. 1400 for discount on creditors. 

 (v)  The amount to be paid to A by B and C in such a way that their capitals are proportionate to their profit sharing ratio. 

Prepare the Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of the new firm to give effect to the above terms.  
PART-B
17. Quick ratio of a company is 1.5:1. State giving reasons whether the ratio will improve, decline or not change on payment of dividend by the company.                                   (1) 

18. State whether the purchase of goods on credit will result into the inflow/ outflow or no flow of cash or cash equivalents.                                                                                            (1) 

19. In which activity will you include the payment of interest on loan by a manufacturing company while preparing a cash flow statement?                                                          (1) 

20. Show the major headings into which the assets side of company’s Balance Sheet is

Organized and presented as per Schedule VI Part I of the Companies Act, 1956.        (3)

21. Prepare the Common Size Income Statement from the following information:      (4)

	Particulars 
	March31,2006
	March 31,2007 

	Net Sales 
	1,00,000
	1,00,000

	Cost of Goods Sold 
	70% of Sales 
	74.8% of Sales 

	Operating Expenses 
	8,000
	9,800

	Income Tax Rate 
	50% 
	50% 


22. Following is the Balance Sheet of X ltd. As on 31st March, 2006: 

	Liabilities 
	Rs. 
	Assets 
	Rs. 

	Share Capital 
	20,00,000
	Fixed Assets (Net) 
	29,00,000

	Reserves 
	  5,00,000
	Current Assets 
	25,00,000

	10% Loans 
	10,00,000
	Underwriting Commission 
	  1,00,000

	Current Liabilities 
	  8,00,000
	
	

	Profit for the year 
	12,00,000
	
	

	
	55,00,000
	
	55,00,000


Find out “Return on Capital Employed”.                                                                                   (4) 

23. From the following Balance Sheets of Godrej Ltd., you are required to prepare Cash Flow Statement:                                                                                                                               (6) 
	Liabilities 
	31.3.97 
	31.3.96 
	Assets 
	31.3.97 
	31.3.96 

	Equity Share Capital 
	2,50,000
	2,00,000
	Goodwill
	     7,500 
	   60,000

	Preference Share Capital  
	   80,000
	1,00,000
	Plant & Machinery 
	2,60,000
	2,00,000

	5% Loan 
	   25,000
	   40,000
	Investments 
	   64,000
	   50,000

	Retained Earnings 
	   25,000
	   30,000
	Current Assets : 
	
	

	Current Liabilities: 
	
	
	Cash at Bank 
	   10,000
	     8,000

	Creditors 
	   90,000
	1,20,000
	Payment in Advance 
	   10,000
	     6,000

	Provision for Tax 
	   37,000
	   28,000
	Debtors 
	1,50,500
	1,94,000

	Bank Overdraft 
	     5,000
	-----------
	Marketable Securities 
	   10,000
	------------

	
	5,12,000
	5,18,000
	
	5,12,000
	5,18,000


Additional Information: 

1) Machinery whose original cost was Rs. 50,000 (accumulated depreciation thereon being Rs. 32,000) was sold for Rs. 10,000. 

2) Depreciation on Machinery charged during the year was Rs. 25000. 

3) Investments costing Rs. 20,000 were sold for Rs. 32000 during the year. 
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